Y T 4 / RAILWAY RECRUITMENT BOARDS
a € T of/088 - T & @ ¥ - CEN 01/2019- NTPC

R
[Roll Number
Candidate Name
Test Center Name
Test Date 17/06/2022

Test Time 4:30 PM - 6:00 PM
Subject Level 3

* Note

Correct Answer will carry 1 mark per Question.
Incorrect Answer will carry 1/3 Negative mark.

1. Options shown in green color with a tick icon are correct.
2. Chosen option on the right of the question indicates the option selected by the candidate.

Q.1 The point on the supply curve at which a firm earns only normal profit is called the

Ans %1, income point

+ 2. break-even point
X 3. exit point

X 4. break-through point

Question ID : 1151352362
Option 1 ID : 1151359446
Option 2 ID : 1151359447
Option 3 ID : 1151359448
Option 4 ID : 1151359445
Status : Answered
Chosen Option : 1




Q.2 :
A == &7 #AF AT fif=w)

FRynt pgleed
2 4 2 4

Ans 3
X1 98—
24
«2 108 —
/
X3 103—
24
1
X4 114—
24
Question ID : 1151351620
Option 1 1D : 1151356479
Option 2 ID : 1151356478
Option 3 ID : 1151356477
Option 4 ID : 1151356480
Status : Answered
Chosen Option : 2
¥ 1. oo, ke, T AR e 9] A
2. golre AT Fherer, @ 3R e @ €
3. wierer 3T T, wEr 3k S=fEEA @

4. 5T AR Fea, Bee AR areheare ded E
5. T 3t g, ST At SRt e B

Fe=fef@a 7 & 7 G, eeeara 3R 3sffea Qorar 372
Ans X1E}§QI?{

2 FITST

x:s.g?—ﬂ?l’

X4y

Question ID : 1151351993
Option 1 ID : 1151357970
Option 2 ID : 1151357972
Option 3 ID : 1151357971
Option 4 ID : 1151357969
Status : Answered
Chosen Option : 2




Q4  vaATE-TRE (MS-Excel) THefie & 9= 69 (column) $r 7T 97Fd (row) F Fiog & &1 w@W F
B 2

Ans X1 5
X2 10E
v 3 E10
x4 5J

Question ID : 1151352384
Option 1 ID : 1151359535
Option 2 ID : 1151359534
Option 3 ID : 1151359533
Option 4 ID : 1151359536
Status : Answered
Chosen Option : 3

Q5 =7 faren F1 979 FifSw, &% o0 = § & W & 7€ @ 7 & A
ABCD, __ XYZA, XXXX, UVWX, UUUU
Ans  X'1. DCBA
X2 DDDD
v 3 AAAA
x4 BCBA

Question ID : 1151351983
Option 11D : 1151357930
Option 2 ID : 1151357929
Option 3 ID : 1151357931
Option 4 ID : 1151357932

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q6 s NI TP, STAEME Q NI oErg, afdad HE orer #1 N, P& o g1 afg 3 w9 =g
F ¥FUR UF 980 A T3 @, o 394 ¥ T 8 #7em # gem?

Ans X1 H
2 N
X3 p
x4 Q

Question ID : 1151351988
Option 1 ID : 1151357951
Option 2 ID : 1151357950
Option 3 ID : 1151357952
Option 4 ID : 1151357949
Status : Answered
Chosen Option : 2




Q7 @ st 30 T2 PG OF & FET & e I U qien F @ # owE A9 g 117 ) s 3w

gfteT & RET T F T 9geT #1 g 11 TE & wuE, W A Bar & d@ § ot wew F oo

o §?
Ans 1. 22
X225
&3 23
x4 24
Question ID : 1151351981
Option 1 ID : 1151357921
Option 2 ID : 1151357924
Option 3 ID : 1151357922
Option 4 ID : 1151357923
Status : Answered
Chosen Option : 3
Q.8 :
= 7 o &y 2o 7 23w =9 2021 ST g2
Ans x
1. gprafRrT
X2 affEear
X3 FeafhEard
o 4 FH
Question ID : 1151352344
Option 1 ID : 1151359375
Option 2 ID : 1151359373
Option 3 ID : 1151359374
Option 4 ID : 1151359376
Status : Answered
Chosen Option : 4
Q.9 =xfae ve &5 # 37.5% F o 9T F=4T &1 I 3OS TW 12.5% FH 9T wier @, AT W 1330 FA
o =T g, 31 3® 10% s Wed gl # F FT 7T 11,000 & Frae wfoes wH §7
Ans X1 22%
X2 23%
X3 21%
4 20%
Question ID : 1151351627
Option 1 1D : 1151356506
Option 2 ID : 1151356508
Option 3 ID : 1151356505
Option 4 ID : 1151356507
Status : Answered

Chosen Option : 4




Q10 = siFew: T 3es TS MG SEae re 87 51 AR (Lady Doctors: The Untold Stories
of India’s First Women in Medicine)' T&% & o/ i 7

Ans

X 1. 3T
X 2. ‘lief O
v 5 Higar T
X4 FIAH AT

Question ID : 1151352343
Option 11D : 1151359370
Option 2 ID : 1151359372
Option 3 ID : 1151359369
Option 4 ID : 1151359371
Status : Answered
Chosen Option : 3
AN srg & wegaly =1 g v T A5 g R ar € e ¥ anfaer @ #
1. FHE & =T GeaAr =T dArerms A vemmeT & eite me=
2. 7= e mamat F TEiRE e
Ans X1 et 1
Xegar1ag2
X3 Zhger 2
v4 1 AR 2, @t
Question ID : 1151352357
Option 1 ID : 1151359425
Option 2 ID : 1151359428
Option 3 ID : 1151359426
Option 4 ID : 1151359427
Status : Answered
Chosen Option : 4
Q12 g seaers & Rodr 10 7t & worx By 7w §) o7 ot § seaars @ At w= Aa
CajEe el
65, 180, 81, 6, 63, 27, 122, 8, 165, b0
Ans 1. B4
X2 64.5
X3 63
<4 65
Question ID : 1151351617
Option 1 ID : 1151356467
Option 2 ID : 1151356466
Option 3 ID : 1151356465
Option 4 ID : 1151356468
Status : Answered
Chosen Option : 1




Q.13 ofy =ar=r #r &7 20% @ifie &, 3R =@ 1 T e wEfE 3R o T S E, o 24,000
F ofer 9w 2 st # s s fraar g

Ans 1. 35334
X 2. 35,224
X 3. 35,234
v 4 35324

Question ID : 1151351628
Option 1 ID : 1151356512
Option 2 ID : 1151356511
Option 3 ID : 1151356510
Option 4 ID : 1151356509
Status : Answered
Chosen Option : 4

O e F ¥ FF T 9T & T T e w1 A = 68
e K i gaiiRde $r w

X2 R AtfaefEr

X5 AfgeT FeERT W BT

v 4 =g T TRAT

Question ID : 1151352366
Option 1 ID : 1151359462
Option 2 ID : 1151359463
Option 3 ID : 1151359464
Option 4 ID : 1151359461
Status : Answered
Chosen Option : 4

Q15 o7 FEwst - oo, fam, Td, s, §1 HN TS v 9% A U &9 T 3o Y R AW A 38
g o dm & it B W A ) e i e v g S e A 8 ) sy R g
& I a7 TEHHT 90 §1 18T % IE 3T ol U HeRAr ST g1 HEr 8= & IiRwdr By w daer
g1 & R e F fm A et 3 1§ % TR By F S e ) FF de

Ans 1. +
X 2. &rar
X3 TS

4 dgd

Question ID : 1151351963
Option 1 ID : 1151357849
Option 2 ID : 1151357851
Option 3 ID : 1151357850
Option 4 ID : 1151357852
Status : Answered
Chosen Option : 4




Q.16 1991 & ara & sl a=dfdT Hr gata F ¥,
v silemfer aEdw 9T war A

Ans XLM
X 2 e 3R Weg THEHT
X3 gy ggrey

_ T e A ¥ g Bee

o 4 IR
Question ID : 1151352365
Option 1 1D : 1151359458
Option 2 ID : 1151359457
Option 3 ID : 1151359460
Option 4 ID : 1151359459
Status : Answered
Chosen Option : 1
QA7 10 m ¥ v TS B F =T F AT AR w7 @@w w15 em 3R 17 om §1 IR TmF
T% % 1 cm? Red & Je o= 1 awra 20.15 §, & 55 Teh oot & Se # H oed A v
[r = = AT
Ans  X1. 315,160.80
+ 2 215,100.80
X3 215,200.80
X 4. 315,000.80
Question ID : 1151351608
Option 1 1D : 1151356432
Option 2 ID : 1151356429
Option 3 ID : 1151356431
Option 4 ID : 1151356430
Status : Answered
Chosen Option : 2
Q18 g3 ¥ AR, -9 (Earth's Crust) & HTedistar &1 wamsmr wforerd frdam 32
Ans X1 36.6%
+ 2. 46.6%
X3 16.6%
X4 19.6%
Question ID : 1151352368
Option 1 1D : 1151359472
Option 2 ID : 1151359471
Option 3 ID : 1151359469
Option 4 ID : 1151359470
. Not Attempted and
Status - Marked For Review
Chosen Option : --




WP+ @EaTE-P, QH TR
PxQ#&mITg-P, Qam T ¢,
P-Q @& 3 g- P, QF I g,

feT 7T o= & v T=a F ¥ #iF @ T mEr 272

‘A+B-CxD
oA DF A T

X2 B, D & 97 gl
X3 B, D #r g gl
X4 C, D &r g &l

Question ID : 1151351975
Option 1 ID : 1151357899
Option 2 ID : 1151357897
Option 3 ID : 1151357898
Option 4 ID : 1151357900
Status : Answered
Chosen Option : 1
Q.20 .
IR (Shogatsu), e & & fFw Zor &7 77 a9 7R &7
Ans 1 ST
X2 FOFes
X 3. graire
X4 g
Question ID : 1151352355
Option 1 ID : 1151359420
Option 2 ID : 1151359417
Option 3 ID : 1151359419
Option 4 ID : 1151359418
Status : Answered
Chosen Option : 1
Q21 G F 7w wduiles wotvus o Fiftw st @ s wfu & onfEe fror o am
A 0
" X1 g0aT mIltuA
X 2. 4Qar gairue
3 429 Tty
X4 gear HaruA
Question ID : 1151352359
Option 1 ID : 1151359435
Option 2 ID : 1151359433
Option 3 ID : 1151359434
Option 4 ID : 1151359436
Status : Answered
Chosen Option : 3




Q.22 Ry 77 RBeedt & & 37 TEW F7 T9T F, S GeAtaEg Soh & g fEa (7) F o W A Ao

F T @ TS
6, 27, 128, 629, ?

Ans  x1.2120
X2 2121
X3 3131
4 3130

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

1151351973
1151357890
1151357889
1151357892
1151357891

Not Attempted and
Marked For Review

Q.23 The Baltoro Glacier is located in which of the following sub-ranges of the Himalayas?

Ans X' 1. Zanskar
X 2. Ladakh
+ 3. Karakoram
X 4. Pir Panjal

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

1151352345
1151359377
1151359378
1151359379
1151359380
Not Answered

Q.24 faw ww Fum Ak Gt # crAEs ) 57 fifew & G oo Gt F @ FE @ R e Fm F

IR 9T FeT &7

ECH
AzB=Q=H<X=K
e

. B<K

. X>Q

A v s | Al a1 @t w5 B
X2 Far fFsey | At F & Ty 1 mem g
X3 Fger ey | T B
X 4 Faer fasey 1| w7 B

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

1151351986
1151357944
1151357943
1151357941
1151357942
Answered

1




Q.25

g x 1y =3:4Fa(7x- 4y): 3x +2y) F AT FT g7

Ans X1.1:3
v25:17
X327
x4 1: 4
Question ID : 1151351601
Option 1 ID : 1151356401
Option 2 ID : 1151356402
Option 3 ID : 1151356404
Option 4 ID : 1151356403
Status : Answered
Chosen Option : 2
Q.26 & =¥ o= =TTy WA FEEE TRT AT OF T g W IeR AT
TiE, A, S, 3E, A, BEe, T AR 5 vE R A WsH YR 45 F, R owE
AL AT F AN FA WIS, WF T N AT N AR N A A TRFE S AT AR AT F
Fel T A& AT AFAE W G A F FE F AR §, T A F et F 7w 7 95 @A e
7T TR H AR | T, Twe 7w 57 # 6R §, 3 BeE § @ AW Sy T o der ) ar,
S &g # 3T Aw wF dor €, 9% G ¥ 8w wee & af ¥ §) R i o & @ osae e
e o ¥ 3R, A F g 6T gEY T W ¥ §) A dw F 6% gw w der §) S, o
¥ & Terer & AT 48 F
Al F FEY # e A ¥ PSP 7 82
Ans 3 3
X 1. A, araEr F g 3R 8 Ferer F d2v g
X2 A, ST & & T 7 FoT Bl
X 3. Hie, TET & & FITeT A FT g
v 4 A, Beg 3R o & 8 Few 7 Sor g
Question ID : 1151351977
Option 1 ID : 1151357907
Option 2 ID : 1151357906
Option 3 ID : 1151357905
Option 4 ID : 1151357908
Status : Answered
Chosen Option : 4
Q.27 60 km & g 77 T H, A, Ued F 2 9 HF W & IR 3 N TS F ST AT A, A
T Wfed T 1 92 FA TAT M I3 H AEEE T AT HE
Ans 1. 15 km/h
X2 25 km/h
+ 3. 10 km/h
X4 5 km/h
Question ID : 1151351624
Option 1 ID : 1151356495
Option 2 ID : 1151356496
Option 3 ID : 1151356494
Option 4 ID : 1151356493
Status : Answered
Chosen Option : 3




9% oo v aTwEr $r AT 7 HiEw)

1, 1.1, 23, 0.1,:08, 5, 3.8, 25, 42 46

Ans 1. 2.4
X2 25
X3 23
X426
Question ID : 1151351625
Option 1 ID : 1151356499
Option 2 ID : 1151356500
Option 3 ID : 1151356497
Option 4 ID : 1151356498
Status : Answered
Chosen Option : 1
Q.29 s woT 3T 3EF A€ & FuUA - | 3 || Ve v §) qw w F FT T FuT WoT F 3w & F B
T AT &, HT TE Sl F TS
CECH
orffrar, arar 3t e & ¥ ST gew o &
FUA:
I. orffrar, w@r & == &1 @ g oS g
Il T, g & o &) g, offiar § w6 ) e, g @ o
(A) FUA | 3FeT 9T T 3ca¥ & & OIT Tdieg ¥, SR FU || 3T M FT 3ol & & oIT ga@eg
& E
(B) e || 30her I9 T 3o & & T qOieg &, Fafe Fua | e M FT 3ol & & o0 gaeg
& E
(C) = | AR || S v Ty AR T F 3o &4 F o0 T@ea 7@ g
(D) o7 | 3T || S U WY WeT #T 3eaT & & AT smEens F
Ans X1 D
2. A
X316
x4 B
Question ID : 1151351967
Option 1 ID : 1151357868
Option 2 ID : 1151357865
Option 3 ID : 1151357867
Option 4 ID : 1151357866
Status : Answered
Chosen Option : 1




Q.30 ST A MR A F AT F 7 A e fie W v e A9 oF g o
Ans 11942

22 1938

x3.1940

X 41939

Question ID : 1151352377
Option 1 ID : 1151359508
Option 2 ID : 1151359505
Option 3 ID : 1151359507
Option 4 ID : 1151359506
Status : Answered
Chosen Option : 1

V! B # @ e @ Sty dfRees Tsw # ae e a6 8
Ans me

=
v 2 g
X 3. HATETA
X4 T

Question ID : 1151352347
Option 1 1D : 1151359385
Option 2 ID : 1151359388
Option 3 ID : 1151359387
Option 4 ID : 1151359386
Status : Answered
Chosen Option : 2

Q.32 zfy frelr e smr &, 'HOME' 1 'LROF' forer =mew &, 3 'EYE' & HAF' feram = &, R 'SO' &r
'UP' forar =TT &, & 3 fT A & 'HOUSE' &1 farw s g seem?

Ans X 1. LSXUF
~< 2 LQXUF
X 3. MSWUF
« 4 MSXUF

Question ID : 1151351984
Option 1 ID : 1151357934
Option 2 ID : 1151357935
Option 3 ID : 1151357933
Option 4 ID : 1151357936
Status : Answered
Chosen Option : 4




Q.33 fav v TemgEA & @ e A, gEE TE, TEe 6e W s e afteh @fr s aa #
s ¥ e & § &9 dem-geE UF §AE Yo & o w8, 3R 59 9 v weg e
T 37 FE-geA & WA FE, S 39 THE ¥ wetid q@0 gl

A2:5
B.4: 18
C6:39
D.8 : 66
Ans o 4. A
X2 C
X3 B
v4 D

Question ID : 1151351990
Option 1 ID : 1151357957
Option 2 ID : 1151357959
Option 3 ID : 1151357958
Option 4 ID : 1151357960
Status : Answered
Chosen Option : 4

Q.34 M, N, 0, P 3t R 7% geame A1 & fte: &% ¥ @l 7 {@w A9 % & F A B M, O F g ain
T T W AE E, RN, O & 2% 3R A e W 3§ P, N & a1 3T g oUW ¥ §
OFE MM R NI OFImAasm T

Ans K1 Faer P
X2 MaIr R

X3 PR
v 4 &ad R

Question ID : 1151351980
Option 1 ID : 1151357919
Option 2 ID : 1151357918
Option 3 ID : 1151357920
Option 4 ID : 1151357917
Status : Answered
Chosen Option : 4

Q.35 uw TRET He o #, BUTTER 2212020518 Tr@m e &, 3T MINED #r 1391454 @ = 1
3H T AT H OIL F 5w wer P smee?

Ans 1. 17456
X2 12345
v 3 15912
X4 18632

Question ID : 1151351976
Option 1 ID : 1151357904
Option 2 ID : 1151357903
Option 3 ID : 1151357901
Option 4 ID : 1151357902
Status : Answered
Chosen Option : 3




Q.36 1680 #, fimTsh F g . ¥ A5 TINHA 5 eg seaviien & 35 # Beg o & &
e fEma W s 4

X1 g 9 9UH
v 7 FET
xs.%I'IE

X4 grear=r

Ans

Question ID : 1151352376
Option 1 ID : 1151359504
Option 2 ID : 1151359502
Option 3 ID : 1151359501
Option 4 ID : 1151359503
Status : Answered
Chosen Option : 2

Q.37 foer o1 wag A, wsfFa $r TEm asw e & It {3 st & d=m o
s e AT s E FEA FT AT AT HH B @ TH w8, ar wsheal i wm Fr g
HEIT 1 fohdelr 6T 3TH &7 1§ S8 LT &7

Ans
x1 2
e
x2 3
7
4
o 3. —
7
xa L
¥

Question ID : 1151351622
Option 1 ID : 1151356486
Option 2 ID : 1151356485
Option 3 ID : 1151356488
Option 4 ID : 1151356487
Status : Answered
Chosen Option : 3




Q.38 ws zana & @ At F 1 A 7 TF 3@ TEL FHRS BB @ § R e @ w1 s
FRA AT F EAF 28 AN s o T s A AT s FAE 781 T, U, V, W, X, Y 3T
Z 7FF O Saad # ¥ T, TR-UF Afee W AT £, T 39 S8 F8 & g At agr
2l

X 3R z & Afaet F = T f@feEt W R & g B £ FF f afg, U & 8T F 3w

e A T A6 @ 1 T RO RYe FEe e 5w W e 81 Y & #5ee F F9 ot O &
HAferelt 9T Tge STel SATFaat T TEA WL g1 W, V F e R 3w safed @ s Alee W

7w X, Z & A5 F I $r e A W wa b

5% Fifsrer ox #i e &2
Ans x 1. X
2T
<3y
X4z
Question ID : 1151351961
Option 1 ID : 1151357841
Option 2 ID : 1151357844
Option 3 ID : 1151357843
Option 4 ID : 1151357842
Status : Answered
Chosen Option : 2
Q3 7 2022 T TF FAAFL F HIAR, TTWET F Tl & AT FiT A2
Ans x 1. ot h
X2 TH. JRAT AT
v 5 9 T
x4 giyger
Question ID : 1151352360
Option 1 ID : 1151359437
Option 2 ID : 1151359438
Option 3 ID : 1151359440
Option 4 ID : 1151359439
Status : Answered
Chosen Option : 3
Q.40 v wag % 8 Rggndt - J, K, L M, N, O, P 3R Q, v g@t & 3% 7@ &% af dheaat & 3% §)
wedw dfed A 9 Regnf §1 Q #R N v gEy # AN @ e 4 €1 Q, P 3 O o F O e
A KOoFsmsindm o dda i Kt J R aem B EH M N, w5 - g@r &
T i S LFaaa T
Ans 5. Q
X2 N
3 0
X4 K
Question ID : 1151351991
Option 1 ID : 1151357963
Option 2 ID : 1151357964
Option 3 ID : 1151357961
Option 4 ID : 1151357962
Status : Answered
Chosen Option : 3




Q4 faw av Rewedt # F Fi9 G a7 T Aeeanw A ¢, A i@y gHmor F v e (7) &
I 9 HCE?

5.01 + (3.01 x 1.999) x 4 + 6.01 + 203 = ?

Ans x1. 65
X2 52
3 56
X4 57
Question ID : 1151351979
Option 1 ID : 1151357915
Option 2 ID : 1151357914
Option 3 ID : 1151357916
Option 4 ID : 1151357913
Status : Answered
Chosen Option : 3
Q42 Rw =1w FueAT 3R TSt B eaETEs g 39 ST & e v Gt #§ @ w9 @ e v s &
HTUT 9T TeT §?
F:
K<Oo=M:z=N3RL=M
s
L L=>K,
II. N < K
Ans : 2
X1 | 3T 1l =t & e §
X2 Fa || FT gl
X313 |l = g g7 &
V4 Fael | I ¢
Question ID : 1151351982
Option 1 ID : 1151357927
Option 2 ID : 1151357926
Option 3 ID : 1151357928
Option 4 ID : 1151357925
Status : Answered
Chosen Option : 4
Q.43 ¢
e Aeafes &y fhw g & e §2
Ans x
1 foew
V2 TH
X3 HgFd U= AN
X4 =T
Question ID : 1151352354
Option 1 ID : 1151359416
Option 2 ID : 1151359414
Option 3 ID : 1151359415
Option 4 ID : 1151359413
Status : Answered
Chosen Option : 2




Q44 sigzifier daw ot & F @A d aiiiEe 3 Y veAE weE e § @ frw e # e 2

Ans x 1. affrerTs
5
X2 FAEH
V5 HeT qeEr
X4 BediHAg
Question ID : 1151352348
Option 1 ID : 1151359392
Option 2 ID : 1151359389
Option 3 ID : 1151359390
Option 4 ID : 1151359391
Status : Answered
Chosen Option : 3
Q.45 f3eg snfiw &= (World Economic Forum) & 3N, AT 2021 F% e St & 3R 5T, e &
T g & & &7 F S S areir et S T gates o6
Ans
v 1. 993 7 el
X2 {qEd
X3 e
X 4 WIFT T HATE
Question ID : 1151352353
Option 1 ID : 1151359412
Option 2 ID : 1151359410
Option 3 ID : 1151359411
Option 4 ID : 1151359409
Status : Answered
Chosen Option : 2
Q46 g #F ¥ frg merEER & TR FerUT (Kuroshio current flows) arfes gt 27
Ans =
71 fge AgrEnER
< 2§l HETERER
X 3. gTEol AgrErER
X 4 HeEATeH HETETR
Question ID : 1151352350
Option 1 ID : 1151359399
Option 2 ID : 1151359397
Option 3 ID : 1151359400
Option 4 ID : 1151359398
Status : Answered
Chosen Option : 4




Q.47 2320 iy T F T T R TR I F A F A 22880 T FHAT NG AT A=l (1
FFETT = 10000 sq.m F FIT FiAT)

Ans 1. 60000 sq.m
X 2. 70000 sq.m
« 3. 90000 sg.m
X< 4. 80000 sq.m

Question ID : 1151351634
Option 1 ID : 1151356535
Option 2 ID : 1151356536
Option 3 ID : 1151356534
Option 4 ID : 1151356533
Status : Answered
Chosen Option : 3
Q.48 The Supersonic Missile Assisted Torpedo System developed by DRDO was successfully launched in December 2021 at
which place?
Ans X' 1. Maharashtra
X 2. Andhra Pradesh
2 3. West Bengal
+ 4 Odisha
Question ID : 1151352338
Option 1 ID : 1151359352
Option 2 ID : 1151359351
Option 3 ID : 1151359350
Option 4 ID : 1151359349
Status : Answered
Chosen Option : 4
Q.49 FaET 2021 H FERA T WG 147 HTWET T BAT wF @A SRR s (10AA)
2021 [International Olympiad on Astronomy and Astrophysics (IOAA) 2021] $r Te= arferss & a=a
F TUTH FiT T W?
Ans 1. GERT
« 2. 9gell
<3 gty
74 R
Question ID : 1151352339
Option 1 ID : 1151359354
Option 2 ID : 1151359353
Option 3 ID : 1151359356
Option 4 ID : 1151359355
Status : Not Answered
Chosen Option : --




Q.50 23,680 Fr TfAr 12.5% oM HTURT =417 $T &7 9T 6 st & forw @y Fr s &1 Rdwaar | =7

g T FerE 7g e

Ans X 1. 26,460

X2 26,420
X3 26,480
4 26,440
Question ID : 1151351603
Option 1 ID : 1151356410
Option 2 ID : 1151356412
Option 3 ID : 1151356409
Option 4 ID : 1151356411
Status : Answered
Chosen Option : 4
Q.51 o B - oo, Qo Tsin, o v 3, ore, wren, S, der s dror A gt s - s
T # F Bl o T o Eae T §1 ve B @ W gy oo, Rreeh, Aodh i gm A @ R
TF ¥ verslt g, 3T BT o o st # meer verstt @ #
T et & ool B, AR Swer Sl T e A gl E1 e o7 A S wee gu
=fea F YA ¥ e gl [E A T A AT TG ¢ Al 3§ gy oIS A Aoer § Tee Ag0
¥ RelT o Aol o7 B A-oE wgel €, AT 30 Ao & USsl A4 §1 A F e T E-er g
B T o A LT BT E-AE TEe N B T RE oF & veret 22
Ans
X1 fenT
o 2. 3-1;'5;'
K5 JrareT
X4 TET
L
Question ID : 1151351962
Option 1 ID : 1151357845
Option 2 ID : 1151357847
Option 3 ID : 1151357846
Option 4 ID : 1151357848
Status : Answered
Chosen Option : 2
Q.52 uKna;waﬁmEﬁrs;sr%%mﬁu = K 81 I 2JIK = 60° &, & 2IJK &1 AT 120° & fohaer gfoea
FH geEm?
Ans 5. 54%,
X2 55%
+ 3. 50%
X4 52%
Question ID : 1151351626
Option 11D : 1151356502
Option 2 ID : 1151356503
Option 3 ID : 1151356504
Option 4 ID : 1151356501
Status : Answered
Chosen Option : 3




Q.53 s W TTREF 2019-20 F AR, I 2019-20 F IF AT W FOAR A o A @
FT AT T=T g FASH 9T &2

Ans X 1. TSTEATH
X2 Feg g
v 5 3cal 9&T
X 4. FGRTSE

Question ID : 1151352349
Option 1 ID : 1151359394
Option 2 ID : 1151359395
Option 3 ID : 1151359396
Option 4 ID : 1151359393
Status : Answered
Chosen Option : 4

Q.54 pRm it wEarT & 9w For 1950 F1 TEEET F 2250 W W R F 99 36 & Ui geh, S
TEERT & IH Tgo ol 39 TR &7 AT AT HSC S IHeT # Fganr A aE & 9w o

Ans  @1.12 : 7

K229
X313:9
xX49:7

Question ID : 1151351623
Option 1 ID : 1151356491
Option 2 ID : 1151356489
Option 3 ID : 1151356492
Option 4 ID : 1151356490
Status : Answered
Chosen Option : 1

WS Feafer e # ¥ w UsT F 3w AT @F geT 7
Ans X1 GedeTe

X2 Feg geEr
X3 HEH

v R

Question ID : 1151352380
Option 1 ID : 1151359518
Option 2 ID : 1151359517
Option 3 ID : 1151359519
Option 4 ID : 1151359520
Status : Answered
Chosen Option : 4




Q.56 simer 9F Fr 37 4 km oA & o AT {5 &, AR 3 km 3T TEaT 31 AT 97 A gEAr & A4
km FEER T AT § 3w 3G @G & R Fa #@ R g, R aw amer Ry % g & R

T AN O # S A e g R 87 (@ A Faw 00° Ao 7w ¥)
Ane v of@EmA, 3 km

X2 3eay, 7 km

X3 3eay, 4 km

x4 gfggA, 7 km

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

1151351971
1151357882
1151357881
1151357883
1151357884
Answered

1

Q.57 3z o T o TEEr AT a5 11, 12, 13, 14 3 15 F fenthe v W o T

I 2 9T &
Ans X 1. 0058
< 2. 60060
«< 3. 60002
« 4 60062
Question ID : 1151351630
Option 1 ID : 1151356517
Option 2 ID : 1151356520
Option 3 ID : 1151356519
Option 4 ID : 1151356518
Status : Answered
Chosen Option : 4
Q.58 fw arv FeEt R fsws @ AEE 1 FUE # & TR T FF JAd g0 RO w6 i
IF TS AT 9 ¥ T adT g &), 3 97 Y fF RT v Gewst § ¥ FiF @ wE &7
afes w7 ¥ TeT w7
FU:
1w Fremm sl
2. WE T TEAT AL g
TR
. $o Femm a=a= &)
Il. % ==A= Frema 74 8
Ans .
X1 g7 ar frsey | Tr || 9T FaT gl
X2 Fger fossd | e F4aT B
v 5 Fger TreEy || uTeT T
X4 ar ey | 3k 7 & 1l oo Far
Question ID : 1151351985
Option 1 ID : 1151357939
Option 2 ID : 1151357937
Option 3 ID : 1151357938
Option 4 ID : 1151357940
Status : Answered
Chosen Option : 3




Q.59 *
== =uas 1 O3 FaT

35 x 0.5 x (4.4 — 0.625 = 1.5625)
Ans X'1.10.5

X2 175

3 7

X414

Question ID : 1151351609
Option 1 ID : 1151356433
Option 2 ID : 1151356435
Option 3 ID : 1151356434
Option 4 ID : 1151356436
Status : Answered
Chosen Option : 3

0 S mafeRoT F x @ AT A ST

1+—|+12=¢
T 11 2

Ans &1 2

x2 1

2

xa 2

3

X4 1

Question ID : 1151351631
Option 1 1D : 1151356524
Option 2 ID : 1151356522
Option 3 ID : 1151356523
Option 4 ID : 1151356521
Status : Answered
Chosen Option : 1

Q.61 o7 371 W (World Steel Association) ¥ @R, faes & ¥ Fi7 &7 Zar a8 2020 F 79 3e9Ew
F A F T F guE B W oan?

X 1. HgFT T4 AN
X2 oRd

3 =T
X 4. FATITT

Ans

Question ID : 1151352351
Option 1 ID : 1151359402
Option 2 ID : 1151359401
Option 3 ID : 1151359403
Option 4 ID : 1151359404
Status : Answered
Chosen Option : 4




Q.62 afyw 8 ez iy s &1 wrer & disar &1 IR a7 ¢ W @ ghear =l @A A e 24 e
# faw e &1 gfr a7 wEm?

Ans X1 11.44
%2 11.60
%3 11.56
v 1152

Question ID : 1151351607
Option 1 1D : 1151356425
Option 2 ID : 1151356428
Option 3 ID : 1151356427
Option 4 ID : 1151356426
Status : Answered
Chosen Option : 4

Q.63 @ifter s e Fr W F A TR A AR W FEH T YF F §, AR 2 km TwE E OB, =
¢ Fear &, A 2 km 3R Tt §) 39 & = e geh E v 3 km A woh ¥ 3w sEe @m0
forg foam & 3 &7 (@ F5 F=er 90° T A )

Ans x 1. m
« 2. 3cdd
Xe g

X4 of¥Es

Question ID : 1151351970
Option 1 ID : 1151357880
Option 2 ID : 1151357877
Option 3 ID : 1151357879
Option 4 ID : 1151357878
Status : Answered
Chosen Option : 2

Q.64 ww 7ot weaeadr # Faw 10 & 64 Tagzrd avr o7 §) 7R wsft & g, TS H dEw T 16
i B, & WeAeall # AT o 9T A5 ST HET I fRE@ntit Hr Fu @war # W A

HfaT)

Ans X1.5:8
X23:5
X34:9
v43:8

Question ID : 1151351635
Option 1 ID : 1151356540
Option 2 ID : 1151356538
Option 3 ID : 1151356539
Option 4 ID : 1151356537
Status : Answered
Chosen Option : 2




Q65 5_10=5x2—[12=6 of (5X6+(6—9)+13}X (8+40f3)] & HT AT AT

Ans
x1 4
9
x2 2
6
x3 2
3
h
o 4 _
9

Question ID : 1151351614
Option 1 ID : 1151356453
Option 2 ID : 1151356456
Option 3 ID : 1151356454
Option 4 ID : 1151356455
Status : Answered
Chosen Option : 4

Q.66 Fwamait 4, 6, 10, x, 20, 24, 32 F IRE FA ¥ cgafeua fFar = ¥ IR % Aoy ik Afeger
ey &, x & A 7T HiSw)

Ans X120
X2 8
¥3 16
X412

Question ID : 1151351632
Option 1 ID : 1151356528
Option 2 ID : 1151356525
Option 3 ID : 1151356527
Option 4 ID : 1151356526
Status : Answered
Chosen Option : 3

Q.67 ‘Forew TehT femE F T F wfats , ¥ qEarg EeaeRt # T
Ans X 1. EOTETTSA

X2 e =
v 5 &I e
X4 TH. . TATS

Question ID : 1151352382
Option 1 ID : 1151359525
Option 2 ID : 1151359526
Option 3 ID : 1151359527
Option 4 ID : 1151359528
Status : Not Answered
Chosen Option : --




Q.68 2025 7= ¥sfHeer ToF e (BWF) wreiie manT % Terd & w9 & Tgea vwa srda w17

Ans

v 1. TEer d@e &y
X 2 wiARElT |5 golid

X 3. TTEAT HgaTer
X 4. e Frardr

Question ID :
Option 11D :
Option 2 ID
Option 31D :
Option 4 ID
Status :

Chosen Option :

1151352341
1151359361

: 1151359364

1151359362

: 1151359363

Answered
1

Q.69 e = Fr IRAT, 56 cm FEE K 42 cm e T TF 2T F IRAET F WK §| 3 AT w

Ans

TRATT (cm ) I FSw, BEer @ @ Fr o & T gl (n:?ﬂﬂﬁrﬁm)

v 1. 126
x2 198
X3 182
X4 224

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

1151351621
1151356483
1151356481
1151356482
1151356484
Answered

1

Q70 o 3w siagediT o 1.2 cm Fer ¥ 3 swS IMUR A ewr 2.8 cm ¥ IR o A

Ans

Ry T ditol & 9 # 2ol AT &, o kel 1 =aTH Tohae 2em?

X128 cm
X242 cm
X3 84 cm
«+4 56 cm

Question ID :
Option 11D
Option 2 ID :
Option 3 ID
Option 4 ID :
Status :

Chosen Option :

1151351605

1 1151356417

1151356418

1 1151356420

1151356419
Answered
4




Q.71 s (Earth's Crust) 3 w=% @ & 39eey dedt & West #, e & & w7 & arg sp99E (Earth's
Crust) # Fee ToX AMT # 39eRY §7?

Ans % 1. 3fr@ (Barium)
v 2 TeATTH (Aluminium)
X 3. HIAST (Manganese)
X 4 grEe=aH (Titanium)

Question ID : 1151352369
Option 1 ID : 1151359473
Option 2 ID : 1151359476
Option 3 ID : 1151359475
Option 4 ID : 1151359474
Status : Answered
Chosen Option : 2

Q.72 A v AfPag w5 @& 15 RaT # T gorar §, 3T B 3¢ FH &7 v 10 RET F & mgwar §1 A
3T B wHay 6 RE T F1H wa ¥ 3 T A 17 ST 7o JaT §1 B 99 ®1 C ¥ @y e
8 et & T T Bl AT FH F A ¥R C Faww e v § W o w97

Ans 118 fry
X2 9 e
X3 15 ﬁ?l'
412 @H

Question ID : 1151351613
Option 1 ID : 1151356452
Option 2 ID : 1151356449
Option 3 ID : 1151356451
Option 4 ID : 1151356450

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.73 fyfryr siOfRET owa & oo 3R AR F U O aRE §F yEeuieR & OfE w5 A
T, ‘Irsareew Moz (Midnight's Children)' F /@ #iF §2

v . FeA TREr

K2 sffamsT 9w

X owE ws

X 4. Frgmmr gravaE Aradier

Ans

Question ID : 1151352383
Option 1 1D : 1151359530
Option 2 ID : 1151359531
Option 3 ID : 1151359529
Option 4 ID : 1151359532
Status : Answered
Chosen Option : 1




Q.74 apar Sefeor SUTE % HER, T F ¥ R vew & iy 75y @ (2019 F fv) wefw &2
Ans oy 3aT I

2. JET g&T

X 3. Bl HITg

X4 REr

Question ID : 1151352346
Option 11D : 1151359381
Option 2 ID : 1151359382
Option 3 ID : 1151359383
Option 4 ID : 1151359384
Status : Answered
Chosen Option : 4

Q.75 zfx 289575 + 268.125 = 108 &, &r 289.575 + 2681.25 o & & Trwss vrew g7
Ans X1 1.08

xX2.10.8
x3.0.0108
4 0.108

Question ID : 1151351611
Option 1 ID : 1151356444
Option 2 ID : 1151356442
Option 3 ID : 1151356441
Option 4 ID : 1151356443
Status : Answered
Chosen Option : 2

Q.76 fomm & & Fi9 @ & Fewied & I g7 F 7T F TEL F T G0 F TR G 5 T4 R?
A K seafeEaE

X 2. HeETIaT

X 5. b

¥ 4 el HTeaER

Question ID : 1151352342
Option 1 ID : 1151359366
Option 2 ID : 1151359368
Option 3 ID : 1151359365
Option 4 ID : 1151359367
Status : Answered
Chosen Option : 4




Q.77 fy ¥ =rw 1530 32 ¥ ot fOefar & o 2380 32 ¥ oy FaT F @ o ¥ 5w ana &
35t Fr AR FE fhae g g, A 9g @ea, i AT et @e % T s g
mﬁ,mmﬁaﬂémmﬂﬁ,maﬁésﬁﬁﬁmﬂﬁﬁmgmﬂm

Ans x 1. 85
<2 340
X3 255

+ 4 170

Question ID : 1151351606
Option 1 ID : 1151356421
Option 2 ID : 1151356423
Option 3 ID : 1151356424
Option 4 ID : 1151356422
Status : Answered
Chosen Option : 4

Q.78 =¥ & Fia & e foelt wofea = G ST & 30 T = WS @ 95 F e Sl & e
¥, foree 98 gear/ Ao 7 2 ¥

Ans X 1. fardmaT (Prohibition)
X 2. g8 JegefieIur (Habeas Corpus)
X 3. 3c99uT (Certiorari)
v 4. HHT g=oT (Quo Warranto)

Question ID : 1151352358
Option 1 ID : 1151359430
Option 2 ID : 1151359432
Option 3 ID : 1151359431
Option 4 ID : 1151359429
Status : Answered
Chosen Option : 1

Q79 o (pH) TFe W, B serdE e F deT (pH) grar Bl
Ans > 1. 5

27

X3 14

x4 10

Question ID : 1151352373
Option 1 ID : 1151359491
Option 2 ID : 1151359492
Option 3 ID : 1151359489
Option 4 ID : 1151359490
Status : Answered
Chosen Option : 2




X 2. gEmfEr drara e S TIaEa
v 3 g% YA Il 3chET 9 gidey
X4 el frder 1 =a9ar

O e # ¥ P g wdemarr S e 78§
AN X 1. ZgEnTt B FEARET ETEaT B FATT T

Question ID : 1151352367
Option 1 ID : 1151359465
Option 2 ID : 1151359466
Option 3 ID : 1151359468
Option 4 ID : 1151359467
Status : Answered
Chosen Option : 3
Q.81 gumr gufea (o sogEe 99 Waew & §9 F ot &0 = ) gt 1 FUetedt F
Y & AR & FAT B
Ans
”< 1. -ﬁlaal'-'_d
X 2. 3efeR
X 5. TgIed-UH
o 4. ;q;":laaal :H
Question ID : 1151352374
Option 1 ID : 1151359496
Option 2 ID : 1151359495
Option 3 ID : 1151359493
Option 4 ID : 1151359494
Status : Answered
Chosen Option : 4
Q.82 37 ey & wad fifew, rme o=d 3ER-TAg ¥ 9 U9 §, S gAY 3EN-UAE F TEe HEL-OA
T ¢ 3t St sew-aEg T A g @
EYXJ : IGBR :: CRFQ: GZJY :: ZIQM : ?
Ans X1 DNUR
+ 2. DQUU
X 3. ENVR
X4 EQVU
Question ID : 1151351968
Option 1 ID : 1151357869
Option 2 ID : 1151357871
Option 3 ID : 1151357870
Option 4 ID : 1151357872
Status : Answered
Chosen Option : 2




Q83 By, A ST N TF R AT L, I AT eI FE T ¥ FEU Ee B
Ans X 1. m

2 GﬂETU;Gﬁ'

X 3. gag (Protist)

X 4 9TSAET (parasite)

Question ID : 1151352371
Option 1 ID : 1151359482
Option 2 ID : 1151359481
Option 3 ID : 1151359484
Option 4 ID : 1151359483
Status : Answered
Chosen Option : 4

Q.84 z=rer 1T T ¥ TR B T 214,000 FH T v FfFaT 1 T & 2 TuF F 218,515 & Iy
g1 of = ufE He A A IwaiY @, O wEe o W, 9 AT § AR wAe o ¥ e g A
THgfE o foaaT gremr?

Ans 124,634
X 2. 24,494
X 3. 24,620
X 4. 23234

Question ID : 1151351610
Option 1 ID : 1151356440
Option 2 ID : 1151356437
Option 3 ID : 1151356439
Option 4 ID : 1151356438

. Not Attempted and
" Marked For Review

Chosen Option : --

Status

O e AR F T O ST SaEEr ¥ g 32
Ans 1. XA

X2 X

23 VI

4 IX

Question ID : 1151352361
Option 1 ID : 1151359444
Option 2 ID : 1151359442
Option 3 ID : 1151359441
Option 4 ID : 1151359443
Status : Answered
Chosen Option : 1




Q.86 R =T Rwedt F ¥ 3 ST T TTw Afow, I SR 4o & gew BEw (7) F Tun woaT

T F

3, 78, 9, 69, 15, 60, ?
Ans 1. 21

X219

X3 22

X4 23

Question ID :
Option 11D :
Option 21D :
Option 3 ID
Option 4 ID :
Status :

Chosen Option :

1151351989
1151357954
1151357953

: 1151357955

1151357956
Answered
1

O FHEHETOT 9 (x + 9)? = 441 F FF (roots) T HT

Ans X112, 21
X2 2 16
X 3. =2 =]
vi -2 -16
Question ID : 1151351633
Option 1 ID : 1151356529
Option 2 ID : 1151356530
Option 3 ID : 1151356532
Option 4 ID : 1151356531
Status : Answered
Chosen Option : 4
Q.88 girew 9% TF 1 TUTAT HERIA AHF INE F I F FUAT 1932 F AT FT TR
|
Ans *
1. FGICAT ImedT
X 2. FAET &Ml Agw
X3 Jg &g
X 4 FTUT HTO®H 37T
Question ID : 1151352378
Option 1 ID : 1151359512
Option 2 ID : 1151359510
Option 3 ID : 1151359509
Option 4 ID : 1151359511
Status : Answered

Chosen Option :

1




Q.89 uw AT FT AT F,

“You are human’ & ‘LO PO RO’ @ =T &l

36" g &9 # 'Human are bad' & RFE s Bram Sreem?
Ars X1 RO PO LO

X2 RO NO PO

+ 3 RO YO PO

X4 RO YO NO

You are bad’ F ‘YO LO PO’ for@r =Iam &, ‘Schools are bad’ T ‘NO PO YO frgm = &, 3t

Question ID : 1151351974
Option 1 ID : 1151357896
Option 2 ID : 1151357895
Option 3 ID : 1151357893
Option 4 ID : 1151357894
Status : Answered
Chosen Option : 3
Q.90 iy s et 37 ST (SIFI) dvwehe gAw 3% g $TR amTE 2021 RSar s
AW FiA T VT AT 3?7
Ans v RrererETsiy
X 2. gTTeIhes
K gsfiea
X 4. IreIthen
Question ID : 1151352340
Option 1 ID : 1151359359
Option 2 ID : 1151359358
Option 3 ID : 1151359357
Option 4 ID : 1151359360
Status : Answered
Chosen Option : 1
Q.91 :
oS #T S| sHE 2l
Ans X A
X2 §re
v 3 Aex
X4 g
Question ID : 1151352372
Option 1 ID : 1151359487
Option 2 ID : 1151359486
Option 3 ID : 1151359485
Option 4 ID : 1151359488
Status : Answered

Chosen Option : 3




2 org & O Y PR 7 ueEET 7 A
L -

X 2. waeaAT B

X3 93T TFT HUHIT

X4 Tl Tod ORI

Question ID : 1151352370
Option 1 ID : 1151359479
Option 2 ID : 1151359478
Option 3 ID : 1151359480
Option 4 ID : 1151359477
Status : Answered
Chosen Option : 1

Q.93 The income of A is 25% less than the income of B whose income is 40% more than that of C. The income of C is 20%

less than that of D. By what percent is the income of A more than the income of C?

Ans 51, 10%
o 2. 5%
X3 8%
X4 4%

Question ID : 1151351615
Option 1 ID : 1151356460
Option 2 ID : 1151356458
Option 3 ID : 1151356459
Option 4 ID : 1151356457
Status : Answered
Chosen Option : 2

Q.94 F=afr 2022 F e 203 e Howrdw frew aaRE & oo frew wfaafiar Soft & wdcs

fbem &1 R S A fem Fe (Koozhangal) &1 frfert frmer frar 12
Ans x 1 ﬂd:k_'r m

X 2. gt UgEted

X 3. T T (Ranjith Sankar)

v+ dreg. @SS (PS Vinothraj)

Question ID : 1151352337
Option 1 ID : 1151359348
Option 2 ID : 1151359347
Option 3 ID : 1151359346
Option 4 ID : 1151359345
Status : Answered
Chosen Option : 3




Q.95 2021 # fFw TR SE-0Es HEERE AN Yew T I # sieifaw @ (G) & oaew gam?

Mo e w4
X 2. oaTeRT (eRT) 9fdar
X3 Tt 9fer
X 4 gzfee ofEeT

Question ID : 1151352336
Option 1 ID : 1151359342
Option 2 ID : 1151359341
Option 3 ID : 1151359343
Option 4 ID : 1151359344
Status : Answered
Chosen Option : 1
Q9 zeginr it @R & Hew #, MRTP (TH3REd) &1 9o &9 41 §72
Ans X 1.
Monetary and Repository Trade Practices (Aiaedr U5 Nuiteredr g3 dfFea=)
X2
Moderate and Restrictive Trade Protocols (ATsie Us IfEcfea oz diekricn)
o 3.
Monopolies and Restrictive Trade Practices (AMici=r vs RfEcfaes 5 dfacas)
X 4.
Monopolistic and Reinforcing Trade Protocols (AiaiiifEes T8 Ne-oiide 23 deheq)
Question ID : 1151352363
Option 1 ID : 1151359451
Option 2 ID : 1151359450
Option 3 ID : 1151359449
Option 4 ID : 1151359452
Status : Answered
Chosen Option : 1
Q97 gz o ¥ 7 FEW AT AT, = 536, 1064 AR 1928 Fr qo: fyenfea w2
Ans o 1. 8
X2 12
X3 4
X4 B
Question ID : 1151351619
Option 11D : 1151356475
Option 2 ID : 1151356476
Option 3 ID : 1151356473
Option 4 ID : 1151356474
Status : Answered

Chosen Option :

1




Q.98 Rr=fafta er, T, YdiF YT F HeTTT FL R A B 710 907 1 FeR &
@) @57RM#2QQ3ZA4@W!R#5N%A!T&4A @D
Ans 1 1
X2 4
3 2
X4 3

Question ID : 1151351992
Option 1 ID : 1151357965
Option 2 ID : 1151357968
Option 3 ID : 1151357966
Option 4 ID : 1151357967
Status : Answered
Chosen Option : 3

Q.99 frw 7w Fuw & PeAfafEw uronst # ¥ S an §?
FY
T UF 9 A TEU F, Afehd 6 H FOS Faw TG B 8, SHAT A e HoAE AL g AEA
YROME:
l. wEe # 9T @ A U T ¥ dte 5T weem
Il SET FT AR A, TR F IF GHE I I g B s A o @

ek dlk 1 Ee E A E
X2 | HR I gt & HAT g
X3 Fael 9rOT || AT g
¢4 FIS 9T | AT gl

Question ID : 1151351994
Option 1 ID : 1151357975
Option 2 ID : 1151357976
Option 3 ID : 1151357974
Option 4 ID : 1151357973
Status : Answered
Chosen Option : 1

Q100 zfx 5 37t $r FEIT 505xy, 11 3K 21 & Rewsw ¥, I (7x-5y) FT AT 4T g2
Ans w111

X2 30

X3 16

x4 31

Question ID : 1151351612
Option 1 ID : 1151356447
Option 2 ID : 1151356445
Option 3 ID : 1151356448
Option 4 ID : 1151356446
Status : Answered
Chosen Option : 1




Q101 ofy + =r rst siizar &, x & 379" mewET
40-20+6x2+5=72
Ans X113
X216
X314
v 4 15

+ & M TOT FLA §, FN - & o e & E, A

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

1151351978
1151357909
1151357912
1151357910
1151357911
Not Answered

Q.102 v saged dw= F HEa 17920 cm® #R B=2r 16 cm §1 do &1 5% go8w Sl (om? #) W

Fraw)
Ans 1. 2241
X2 256n
X3 192n
X4 112n
Question ID : 1151351618
Option 1 ID : 1151356470
Option 2 ID : 1151356471
Option 3 ID : 1151356472
Option 4 ID : 1151356469
Status : Answered
Chosen Option : 2
Q.103 et awg ¥ 2222 F 391 W UF AT I 248 F @ N T 3H dTEER # 3 ol = g
1T HifEw
Ans 23
xX1.21=%
37
7 o
X2 16—%
i8
70
3 17-%
9
8y,
X4 18-%
9
Question ID : 1151351602
Option 1 1D : 1151356406
Option 2 ID : 1151356405
Option 3 ID : 1151356407
Option 4 ID : 1151356408
Status : Answered
Chosen Option : 1




day 75 @ 8
Rahul : 12 :: Zenus : 17 :: Vinas : 7

Ans X114
v2 13
X3 15
x4 11

Q104 =3 fameT #1 w2 Hifsw, Sme =0 97 ¥ 9@ 6, AN g T F w0 ¥ L AR Ay ww o

Question ID

Option 2 ID

Option 4 ID

1 1151351972
Option 11D :

1151357886

: 1151357885
Option 31D :

1151357888

1 1151357887
Status :
Chosen Option :

Not Answered

38 FE &1 # ELRAP & hE weh fomr smoem?

Q105 v ff¥T %z oo &, CABLE &7 65@7# foram =am &, AR PARKLET @7 85917#2 for@m =mar

Ans X 1. #9587
<2 9#785
X 3. 7HO58
4 #7958
Question ID : 1151351987
Option 1 ID : 1151357948
Option 2 ID : 1151357947
Option 3 ID : 1151357945
Option 4 ID : 1151357946
Status : Answered
Chosen Option : 4
Q106 Ferehr &, efadg stg @9 (Second Buddhists Council) FEWT T Hr A o
Ans x 1. mﬁ
x 2 ;qaug|
3. HTeATeleR
X 4. glerer
Question ID : 1151352375
Option 1 ID : 1151359500
Option 2 ID : 1151359499
Option 3 ID : 1151359498
Option 4 ID : 1151359497
Status : Answered
Chosen Option : 3




Q107 e v FH F 25 @A F W W THAT §1 AR F Wy Fert I8 3120 w17 F 15 H F
FXTHAT B, FaF HAHT R AFEH OF HA FH F O IH FH # 20 oA F @ ww ww §
T 3R S O w R e 3 & A e A # qu e we §2

Ans X1 seTETa ARTER
V2 ST HEHST
X3 sETEa AT
X 4. $TTETeT TETH

Ans 250
X1 —
9
300
o2 —
11
<3 30
X4 29
Question ID : 1151351604
Option 1 ID : 1151356414
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